A PROFESSIONAL EXAMINATION BOARD
[Pyzerien Middle School Teacher Eligibility Test - 2018
3rd Mar 2019 9:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) A layperson’s understanding of Reinforcement and Punishment are different from those used in . [ TP M 3met Eﬁg’—lﬂﬁ? iR qUs Bt iLE!
ITAGYHE IS A yge B B

1. Operant conditioning / fsha U SrgeYd (3fe )

2. Sign learning /ﬂ%?_d 3fferT (GIEN] ?‘Iﬁﬁ'[)

3. Classical conditioning / GWT‘T SHE?CIT 317:13947‘[ (W ﬁﬁmﬁ"—[)
4. Social learning / T SATRRTH (Treret @f-m)

Correct Answer :-

 Operant conditioning / mtﬁﬁ 3y (3TT¥E e r=IT=T)

2) Separation anxiety is considerably reduced in the child by the age of: / T B g g ok Tg\"ﬁ R 39 SgPdl Eanal T:b'q'(ﬁ STt %:
1. 1-2 years/ 1-2 EL

2.2-3 years/2-3 T

3.3-4 years / 3-4 T

4. 4-5 years/ 4-5 T

Correct Answer :-

« 3-4years/3-4 T4

3) What do IQ test measure? / §f& afsu(ansay) & &ar ATqT oiTa 82

1. General intelligence / QT fSHdT

2. Specific abilities known as S factor / TH ®R& FAIRR RIGACIEU T

3. Logical and linguistic intelligence /S SR HToTS gfgwar

4. Emotional intelligence / HTaTeTds gfaadl

Correct Answer :-

« General intelligence / ST G

4) Which of the following is not a personality projective method of measurement? / fSafiEad & @ F9-3t w10 ) te aftra vadt fafr & &2
1. Inkblot Test /EWT_C"@&FUT

2. Sentence Completion Test /W‘{Ufﬂfqﬁ&m

3. Thematic Apperception Test / fowg EF\‘JTEb_—T qﬁ&[UT

4. Physical Test /Wuﬁ&m

Correct Answer :-

« Physical Test /Wuﬁ&m

5) Which of the following is NOT a learning theory? / Frafefad # & F19-1 ¢ A &1 Rygia 781 82
1. Conceptualism / §UIITAIG

2. Behaviorism / dgRdIg

3. Cognitivism / SMTHGAG

4. Constructivism / IIATHDATATG

Correct Answer :-

« Conceptualism / GUGITAIG



6) Students should be engaged in the process of learning as a that relates subject matter to problem-solving skills. / B B iftr @t ufesar
_ % ®UE A e Gy o GAR-geass F S ¥ [0 9 gaie 2

1. communication experience/ TR BT 3JH
2. contextualized experience/ UTHRT®H 3Hg
3. task experience/ g 3{gHg

4. collaboration experience/ RRIUED 3Hd

Correct Answer :-
« contextualized experience/ TR 34

7) Choose the theorist whose theory talks about teaching machines and a programmed learning system. / 39 fIGTd®R &1 T4 B T Riid Rramr
TS SR TIoAT TR YurTe & Wy & garar g1

1. W. Kohler/@@i.ﬂ'ﬂ@?
2. B. F. Skinner /ﬁwm
3. Pavlov/tl'laT“ﬁar

4. E. Erikson /% Qﬁ?\"’ﬁ

Correct Answer :-

« B.F. Skinner /ﬁ@f@ﬂ?

8) Creativity characteristics is: / go=iial fa<ivand &:
1. Photographic memory / BICRThd W

2. Divergent thinking / IREEIES

3. Introvert / 3‘1_(@@

4. Fast learning / gl SITEATH

Correct Answer :-
« Divergent thinking / f T

9) The inclusion of children with disabilities in classroom is now a worldwide trend. / e N fadanT = & A HAT 3 TP fayeardt
waa g1

1. Special / TafRIy

2. Mobile school / TTfr=Me faemera &t
3. Regular / Faftrd

4. Flip / foeg

Correct Answer :-

« Regular/ frafaa

10) The development stage in Erik Erikson’s theory which occurs from 1 to 3 years is / TR TRe F Rigia # e R st 1 3 3 af a&
gameE__ Bl

1. Identify vs. identify diffusion / Ugdl- §TH UdR 31 UgaH
2. Autonomy vs. shame / ¥ §TH o
3. Trust vs. mistrust / [AYTF ST Sifayma

4. Tnitiative vs. guilt / &S SHTH SORTY SNy

Correct Answer :-
e Autonomy vs. shame / QI §TH o

11) According to the Psychosexual Developmental Theory, the basic instincts are found in the . | T e figia & guR, 9a vgtai
o urd wreft &1

1. Unconscious / 3/

2. Conscious / I



3. Subconscious / 3G
4. Superconscious / RY A

Correct Answer :-

« Unconscious / 3/dT

12) Cognitive development does not study

1. Problem solving / THIT fRaror

2. Memory / F{ﬁf

3. Language / HTHT

4. Relationships / feat

Correct Answer :-

« Relationships / fe=at

13) The importance of play in education was mentioned by ___ ./ fRren o @ & Hga B &R Ieafad fear mar 1|
1. John Locke/ 9 @l

2. Aristotle / 3R¥J

3. Plato / &ie!

4. Socrates / FDHId
Correct Answer :-
« Atristotle / 3R¥J

14) Affective domain of learning is characterized by aspect of our behaviour. / SFATH HT YHTI! U&f AR TR & g gRT

aftfa grar g1

1. learning / 3{T&TH

2. Feeling / 3FHfd

3. Thinking / fGaR &4
4. Doing / & B

Correct Answer :-

« Feeling / Gﬂ’ﬂ%f

15) ICT can increase in inclusive education. / THTARTY Rrem s | Gﬂw del It %I
1. all of these / IRIaT T+t

2. Access only / &ad q§ﬂ

3. Equity only / FHad JHEA!

4. Efficiency only / Had G&fl

Correct Answer :-

« all of these / STRIad Tt

16) What is the term used to denote the organized bodies of information that affect how we store, interpret and process new information? / AT F TIfed

Aol @ fAfée w7 & g {5 <1ee 1 U fman ST @ St 591 <18 =1 & WU, RS 3R ihar &1 guifad & 87
1. Seriation / SPHGT

2. Stressors / 1A

3. Schemas / U (THIHT)

4. Semantics / TTeaTef

Correct Answer :-

o Schemas / TR (14T



17) What is the term that is used to denote the process of retrieving a specific item of information from memory? / e 2rsg &1 TR '\Wjﬁf J GERL Q?W

iy amgen ot uTw FA @t ufhar &1 Fefia w3 3 g fear sran 2
1. Recognition / TR

2. Retrieval cue /g‘ﬂﬁﬁl Hopd

3. Recall / YATHRUT

4. Restructuring /gr—nfa——l

Correct Answer :-

o Recall / UATRHRTT

18) What is a characteristic of a child suffering from ADHD? / TSITaSl ¥ Rifgd o= PT @&0r 1 i 82
1. Motor problems /WW’Q

2. Speech deficits / S & g

3. Intellectual disability / SH s

4. Inattention / 3{TAYUTT

Correct Answer :-
« Inattention / {TdYUTT

19) What kind of personality trait is most commonly associated with being outgoing? /

Sm3engT (Frifeh) | fora aRe &1 aafdae o1 Faifiies &0 & AHId: 8T g8 872
1. Extraversion / a’%%?ﬂ
2. Introversion / m?ﬂ

3. Depression / AT
4. Neuroticism / H-GHTRIAT

Correct Answer :-

« Extraversion / Eﬂ%‘g’@?ﬂ

20) What is 16PF (Raymond Cattell’s)? / XHS el BT )16PF FT 82
1. 16 Perfectionism factors / 16 WW

2. 16 Personality failures / 16 SfaqaTe} Gl

3. 16 Personality factors / 16 AfdIATE! HRP

4. 16 Personal facts / 16 SfdaTd a

Correct Answer :-

« 16 Personality factors / 16 AT HRD

21) To develop critical thinking among children, the teacher should give the students a lot of : /aet i W?ﬁﬂ R v & g, Rigrs &) o=
I Srf® RIS

1. Lectures/ SR

2. Assignments / ¥qd Eau] (@Wﬁqﬁ?)
3. Notes / fewfor

4. Impositions / SfRIYuT

Correct Answer :-

o Assignments / qd Eap] (W'Isqﬁ?)

22) Sternberg’s components of intelligence did not include : / AT ¥ Tg'@ ¥ ged! § e e 7 am:
1. Analytical intelligence / fa=wOTE® g
2. Fluid intelligence / $d 3RIET 35 (IS Sefemi)

3. Creative intelligence / TS gfg



4. Practical intelligence / STTGING e

Correct Answer :-

« Fluid intelligence / 8 STIAT 75 (WS Scloroid)

23) How can a teacher practice intrinsic motivation in the classroom? / Th fRrere e & sriafye URom &1 A B B bl %?
1. Set class policies and rules to control the class discipline. | B smm?a%ﬁﬁﬁﬁmﬁ ¥ o e ifoat otk faw feifia B

2. Set high goals and make them practice to achieve high grades./ 3= 9&d BEIRGETCATIN I 3 IS UT HR P 1o 31 x|

3. Allow students to choose their tasks and work by themselves. | BT BT ST HTT BT I B SR T BTH B B &ﬂ'ﬂﬁ TR

4. Allow students to make choices and hold them accountable for the consequences of their choices. / BBl Tddler fawen FH 3R G% RECARC T & uRomHi &
forg SaTaeE T B SHfd TR |

Correct Answer :-

o Allow students to make choices and hold them accountable for the consequences of their choices. / B B TS AP ed §M 3R S8 30! UNg & YR} &
foTq STaTeeE W 1 St dehv|

24) Through which mental activity is available information transformed to conclusion. / f& AR Tfafafer F AT & IUAH AHHRY Fi fmd A
RATARd frar e g |

1. Thinking / f&ie=
2. Problem solving / T THIUT
3. Reasom’ng/ﬁ%

4, Motivation / BRUT

Correct Answer :-
« Reasoning/ GEZ

25) Which part of the memory is the clothes you wore on your wedding day stored? /Wﬁ' BT HIF-IT YT 3ATTS FRT S F e U5 T Hug aﬁwﬁr Ll
L YT 82

1. Autobiographical memory / THGUTHS Ffcl
2. Declarative memory /Wﬂﬁ

3. Procedural memory / Ufeharete Ffd

4. Participative memory / GgHFT Sfd

Correct Answer :-

« Autobiographical memory / 3THBHUTHD Ffd

26) Which of the following hinders learning the most? / Frafafaa & 3w gaw e sftrma o aren 31?131%?
1. Competition/ yfaafar

2. Noise/ ”IR

3. Boredom/ JaT!

4. Fatigue/ YPTT

Correct Answer :-

« Boredom/ 3¢ 3

27) Which of the following is a secondary sexual characteristic that develops in females during puberty? / frafafea & § s=-d Th o1 A faswar %, Eil
g & R Afgarsi & fywRa g 82

1. Development of the ovaries / 3{STRId P fdbTH
2. Menarche / TSGR
3. Growth of body hair / TRR & STal T FT

4. Deepening of voice / STATST HT TG BT

Correct Answer :-

« Growth of body hair /¥ $ ?%mﬁm



28) Which of the following is a parenting style characterized by low warmth and high control? / g & @ P ura-viwor Qe siftre I 3R 3rfire
[RRELEIRCRLGIE Y

1. Permissive parenting style / 3{3ITHD TTe-G190T 2
2. Authoritative parenting style / SRYPTR TTerH-Tor e
3. Authoritarian parenting style / {IGRaATG! -7 et

4. Aggressive parenting style / TSTHP UTAH-UIUT R

Correct Answer :-

« Authoritarian parenting style / SHfYPRATE UTE-TIwoT et

29) The famous physiologist who introduced the concept of reinforcement and was the first to apply psychological principles to the area of learning. / T|URTS
TR-fran fagrht (rmiaiiore) iR vaeaa RAwRide) #Y srurRon ywarfad #t 3R fRAmH & & ¥ w=iami-e Rigial #) AR $- a1a ugd afad 3

1. Edward Thorndike / TSaE UT-STEH
2. Wolfgang Kohler / BT HIgR
3. Jean Piaget / S formet

4. Ian Pavlov / 39 Ulga@Iq

Correct Answer :-

« Edward Thorndike / TSd8 UHSR®H

30) Which of the following is NOT a form of misconception? /Fafafea & @ s Taq Wqﬁ%"
1. Non-scientific beliefs / /AT ARG

2. Cognitive conflicted ideas / TRTFTE® TRER faRieh faaR

3. Preconceived notions / qafﬂ%ﬁ daR

4. Vernacular misconceptions / HIGHTHT forean §@

Correct Answer :-

« Cognitive conflicted ideas / TS TRER faRieh faaR

Topic:- General Hindi (L1GH)

1) JE-M SO 1T & 374 & 9ga & Jari

3 gard 3 g5 i

b # st TR

Se1fer A A7

IY-3re AT & o

A wH &

39 T TgRETd

B oo B gSHA | IR T8 BIRA &Y

A IS FW FoTR

fafar € srar st § o

Hit-plt e § 3 59 Waw Mga ot §

T R M

3 STt § o qrarTe fpatt oft ) @ ety

T o o 811 6 @ ST e Wl

Iug Ui B yg] 19 fay e us & SR qansy
W Al € ereR Bt € U AT d A g § -
1. et

2.

3. TR

4. R



Correct Answer :-

2) ga8-M9 HU 9T F 31 § 9 & e
I At ¢ gg drw

fFisfaw

EEUCEEE

- qRATSH & U=t

ST FHE A

39 T TEvETd

B TSH| B gSHIR | R Ig BIRAT 8
A IS FW ToT

ffeal € erpax Hedl € Uy

FW-F ot i & § 59 e N g R §
T R

3 aTet € % qroma frae W st A diw

T o o 1 € & ST H5 W@l

I TR B UgHe 1 fau 7T usl F SR qA18U -
UL “I ST 2T — o) » ufehd A A fp s u=t SeA P aa v 22
1. fefsm &t

2. 3] Bt

3. g B

4. st

Correct Answer :-

. gynaft

3) 8- HU 91T F 31 & 9gd & et
I ATt § gg v

b # st TR

Ss1Ru AT

S-S RATSH & Ut

ST T H

39 Y TEvETd

B TSH| B GSUART F 3R TG BRI &Y
A IS SR FoT

el € erpar Heedt § U=y

F-Haft Aar F F 30 e o g9 e §
T R

3 aTet § i qrard fpait o st @Y diw

T o o 811 € @ ST e Wl

IUT T B UeH 1 fou 7T us F SR T80 :
UH: 7= {59 W geant w14 82

1. AT &l dis W

2. TR R

3O W

4. AW

Correct Answer :-

. AUWR



4) -4 $HUAT SR F 3Td & 9gd o St
I At § gg dIw

fFAsdiaw

Ss1fRgadt

- qRATSH & U=t

ST T A

39 d TgvET

BR de! B! gSHaR A 3R I8 BT &Y
A IS FW ToT

el € srewx Bt & TuR

F-F ot it & § 59 v N g R §
T R M

3 areit € % qroma fra W st S diw

& e A ST 81 & SuT He dal

I UL B Ugh 12 fau 7T wel F SR T80 -
W TR BT fd uR 3l 82

1. ¥l B R R

2. Rfsa ot R W

3. Q91 31 aigH fRUfd R

4. 9 B FRUFA R

Correct Answer :-

. g B adaH FRIfT W

5) gIB-ATH HU a7 F 31 & g & et
I At § T dlw

b & st TR

SsIfRu a7

S-S YRATSH & Ut

A TR H

39 Y TEvETd

B TS| B! YSHAR A R TE BT &
A IS SR FoT

ffat & srer Feeht § Tu=rg

FH-H W Fa A 3 e e M ga o §
T R

3 gardt & b grara fra oft gt g g

T fa ot g1 € @ SuwT g Wel

ITYd UL P UgHR -1 3T Tyt & IR 9415 :
W: A | ST FIT THA 72
LRFA T

PRCINCEE I

3. 410 g Tl

4. GERI ¢ 1t

Correct Answer :-

o« WHA

6) GaE-H HUN a7 § 3 & 9ga & Vet
I 9Tl 3 gg A

fr & st seR



SeTfeg d &

-3 RIS F Uy

A AR H

39 d TEvET

TR TS| ) TSHIN | 3R T BIRT &Y
A IS S ToT

ffeal € erpax Hedl & Uy

Pl Ao F F 39 e o g9 e §
T R

J gard & o rama fpaet o s g
TP A A ST 8 B SwET W W1

I UL B Ugh 1 fau 7T wel F IR qA15U -
= Rifdm e g wn @2

1. fafgan

2. frer

3. RS

4. 9fsar

Correct Answer :-

7) 98-IT9 HU a7 F 31 § g A et
I At § T v

b & TSt TR

Se1fRua Ay

-3 IS ¥ s

A AR H

39 Y TEvETd

B oo B gSHA | IR T8 BIRT &Y

A IS SR FoTR

Rifat & srmar weeht § Tu=rg

F-H Wl i A 9 39 Waw T ga o §
TN R

3 gardt & fb grarTa fra-i oft 9t g g

T o At ST € § ST Hg el

ITd UL B U -1 3T Tyt & IR 9418 :
WT: SERETA ST T § U A T 32
LAY PR T

2. Y-

3. SR Y T

4. Qg

Correct Answer :-

. SR

8) IE-H HUN a7 & 3 & 9ga & Qe
IR qard @ FE Ay

L ESEEN

SeTfeg A A

S-S AT & =¥

ST A &



3 TERETA

B TSP B SHA | IR TE BIRA &Y

A IS FW ToT

T € srar weet § Tuwy

F-Hft Ao F F 39 R o g9 o §

T R

9 gt & fob aaraa fobaeit i gt Y i

T o o §11 € & SHT HE WEl

Suded Ui ®Y uge] i faT T ush & SR qamsy
WR: TRgd Biaar & gag R W B S a7 § B AT 32
1. fifear

2. TGS

3. 33491

4. @t

Correct Answer :-

9) IE-H HUN a7 & 3 & 7ga & Vet

I At § gg diw

fFAadtor

SeTfeg ad

-3 RIS & U=

AT T &

39 T TEvETd

B TSH! B ISR | R TE IR &

A IS HW ToT

el & srpax Hedl & Uiy

FHl-FWl Aar & 3 39 War ot g et
TN HR IR

J gard § o e feait i s g

T o o 81 € & ST J5 W@l

IR TR Bl UgH A1 fou 7T ust F SR qa18T -
U=: IFA™ | @Y B 16 TR 96 B B YSHaR] Bl 82
L¢

2. S/
3. Bl TSP
4. Tafeat

Correct Answer :-

. BREASH

10) JIE-XTH HU-t aRT H 314 § 95 I St
3 FTdl 8 9§ dra

o5 # st TR

Ss1fRu AT

SeY-Irwy AT F U=t

ST T A

39 Y TERETd

BIR ASH! B YSHART H 3R Ig WINT &Y
@ IS FWR FoT



FafSal & erpa Hedt & Tu=rg

Hit-p Wt o § 3 599 WHaw Mga ot §
T R

3 Fard! & fp e fpat W st g di

T A A S B SHFT Hg W1

Suded Ui #Y uge] e faT e ush & SR qansy
W= A9 95T a1 Wi It 32

1. SR AFA B

2. RAA B

3. ATHAR 591 i @ g1 STl &

4.gG HA DI

Correct Answer :-

. ArHaR S0 H W g ST 8

11) JIG-MH HU- a1 H 37a § 9ga & qart
I At § gg dIw

fFisfiaw

Se1fRua AT

Srey- 3wy TSt F U=

ST FHE A

39 Tt FEvETd

B TSH| B gSHIN | R T§ BIRT 8
A IS FW ToT

fafeal € erpax Hedl & oy

FH-Hlt Ao F 3 395 W oft g ot §
T R A

3 gareit € % qramwa frae M st A i

T o o 811 € & SuwT H5 W@l

I TR B UgHe A1 T 7T uel F SR q@18T -
: AP WG A R A T R?

1. Uhdgad

2. fgaam

3. 3T A BIE Te!

4. ggdd+d

Correct Answer :-

12) YIE-XH St aRT H 3Td § 95 A St
I At § g v

b & st TR

Se1fRu a7

S-S YRATSHT & Ut

A TR H

39 gEvETe

B TSH! B! YSHARI | R TE BT &
A ITF FR TSHR

el € erpar Heedt § Turg

Fft- Bt Qari & 3 39 Wfow i gt ¥

TR BRI



q gard! § fos eraa feast W sst g di
AR TR B SwF Y5 @

Suded Ui ®Y ugs} i faT e ush & SR Ay :
TY: A & AT | G PR TR AT TR 82
1. T 7R AhEd1 & A B 7R Qifaaemed safed ot
2. 3 F I BT

3. gl &l

4. TS 3R g e H1

Correct Answer :-

« T AR YT & He B IR Af=IIC fe B

13) ¥ 9gd oIl A wa 7 Raft oft1 B8 erwft gt § % a5 93 Swewr wehiRmErg urh 01 38 greera d 47 ST ygar weu Sar & € ger Ul 37 o ot &
IGQ 79 78 urg § 1 A 55 GHG 99 50 Ted N W 39 T 99 O 910w o1 747 €1 A7 el SR TS G ot § ART A’ GorT P} aeie & 9971 61 8, T SR
B 3R G I5a1 21 A9 I g8 Re A To @t § ok & 2w @Y et §1 N W 989 W A9 ¥ ¥ R F A U - U & Ridd e a9 4, wem At
BIR T &1 W 3R T F SR g3 Te & g gl 8 ok A IR 3T — A o1 v U &1 e 7o g @ gH-garl Right 39 & oRur g9 & R sea 1€ 81
IUY T B Ugd? - 3T 1T wsif & IR 9arse :

U= AT B 3wl A9 R & aaa wel wrl A

1. SRIIRTETE

2. TOIRTETG

3. ATESR 181G

4. IREETE

Correct Answer :-

. SErfRTETE

14) ¥ 9ga It @ o9 A Rf 1 A ot gawed & 5 95 G THsHR wRiiRiag wrht 0 A8 areea § AN U1 ugan HeH HArs F € dgrm ATl IR o o A
T 79 T Ui {1 9 A 5o 99T 79 70 ed A W I« 5 T9 5O ard 311 741 {1 AR T iR S G Sl €, A7 Ag0 Yol B aoig @ 797 8T 8, T F 3R
B iR G IgaT 81 A Wi g8 e W Tad @ § ok A g% @l el 1 N R 987 W Ara-ard o § 1 [E F I U TH-0F v & e Ren 9@ 3, e Al
B G T &1 M 3R Ui F SR g Tom & fegwd gidl € ok A U7 3@ - A o1a v ¢ 81 b 7o g @ gi-gardt it A9 & sru gdn & R sea 1S 81

IUT T B Ugdx - 3 71Tyl & IR 9arse :
T AT F IWR W R

1. A A HIE T

2. A Usd

3, el eresl

4. U ysd

Correct Answer :-

. A YS

15) ¥ 9gd SId At 5ia 19 Rl B A9 paft gareht € fp a8 o) s weiiRmarg Wit A1 A8 argerd § 89 AT ugd Heu SUR § € e ATl 37 o oft &
I 99 T Ui §| 9 A 5O 99T 79 70 Ied A W I« 5 T9 5O a0w 311 741 {1 AR7 T iR 4TS Gl Sl ¥, W7 Ag:T Yo B aoig @ 987 8T 8, T F 3R
B 3R G ggat ¢ | A8 Wi g8 e A Ta et § o7 & gy @Y et §1 Y @ 98 W A9 ¥ ¥ 1 [ W T ¥ TP U & e e 9 A, wem At ¥
B L E1 WY 1R ufa F HRr e Tem § fRigmd it @ 3k M A 3wt - A oTal U gU R | b o gon @ gH-gudl gt i & Sror g9 ¥ e gea 1 R
I TR B UGy - 3T 71T usif & IR 9a1se :

U= G BT gt 781 82

199

2. 3R

3.%ad
4. g

Correct Answer :-

16) & 9ga B 0 a0 1 R ot 1 A9 ol qarch & b 98 G TrsH) WehiRmarg yrh ot 39 areerza & 89 JuAT Ugen Few Tart § € ggrar o1 3R o oft &
I 79 TG U § | T A $ THY 9% $© Wed A U 3 {6 A9 T 10T 341 I § | ART T 3R ST Yo ATl §, W A5 Yol P I | 997 81 8, T A Siew



AR G RA I TN I I RE A G Al g SR AW A F NP TEA R A@-AA YN I TE R IR TP IR & Rgp M s, We@ar
BR BT T 1 A @fe ufa & PRT AR Ta F figewd gt 8 o W IR 3@ - A o1t S gU R | v o g B sH-eR Riwh v b wrur sAn F R aga w71

IUY T B Ugd) - 3 1T usif & IR 9aise :

T AT 3t Rreft f5ad sror g & fig aga 82
1. 19 & SR

2. HUIN & HROT

3. 3N S(uTa & BRI

4. lawaiTar & SR

Correct Answer :-

. 19 S HRU

17) & 9ga S 0 9 1 R ot 1 A ol qarch € b 9% 43 Tpsar WehiRiare yrh | 3 greera & 89 ouAT Ugen Hew art § € agrr AT 3R o oft &
I9Q 79 78 Ui § | A 55 THG 9% 50 Ted N W 39 T T9 o a1a o1 AT 1 W7 e SR TS g ot ¥ ART Ve’ Yo P} aoie | 9971 TEdT 8, T | SR
B} ofey G 951 71 A W g @vE | o ot ¥ o A 1 @ &7t §1 TR I 987 W A9 o §1 YLEH T 4 T v F Red R 99 A, W@t 3
B G 7T &1 M 31 Ui F SR g Tom & g gidl € ok A U7 3w - A o1a v g 81 b 7o g @ gi-garl it A9  srusdm & R sea 1$ 21

I T B Ugdx - 3 71T wsif & IR 9arsu :
WRH: 31eR BT 3R G 98T 82

1.9 g

2.HHEY

3.7

4789

Correct Answer :-

. A"

18) T 9gd I At wia g Rl M1 A st warelt € o 9 Yo SIpsHr wehiRmarg Wl 01 A8 argerd & 89 Su=T ugd Hou UK ¥ € gerar 411 37 o oft &
I 99 T8 UrE {1 N A 5O 99 a9 T Wed A W 3« 5 T9 T a0 341 791 71 BT T SR e g et §, AT AT Yo P aoig A 997 I B, T F 3R
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| & dt garEd fhed dgd: | 3 sdARfe | &TUeE d INICT AA
s AT | 3 T R sirua: Rgaferaar |

dogahleded AT &: ?
| AfeeT=rer:
N ICGIEE
_ HAT:
4. GaaTraT:

Correct Answer :-

_ ggaTer:

Correct Answer :-



ysfgenfaagasd
4. - ~
Correct Answer :-

Tafaerfaagad
. D =~

24)

TR=de FfScar 9oy AgHck I -

TR, G FERUIRTRAIYATH SeaeT: | T: TTURIRAYT ellhaged Jfaafd:
S8 | dE YA Urene: | IRFelsdicy droh: § Od: SHOHASEA |
ar o= -

Icd, T¥Ppel Ay ARy ERaA: & ? WEds: - ¢ dHd,
AT [T0RT FIEARET FRUA | § T ARAHA” | TAd
e &leg: $fUdl semg ‘gew, fHfAS" @ aeom ER afed:,
FRMRATRT” | Jeella: - “dld, A1 #AA IJeATGEY, a7 R’ AT |
TE:, AT TSN 3T FAXT I IRITAAT | & U9 e7ad:, A,
gavsa fafgar | s wde | fRedd gur wwafd ? e sifdgdt
fRToIHRY:  Goaefeger - ‘ol fshrgamd uT: | IR EEh
MEIAH” 3 | EAfCT I Teee: Y fag@m e | sdarte sgia
feamar | 3t el ST AU G 99 WHACHAn: | Al TSear
VEdG: 3§ - “off o deyar:, 3 fhel Tcgd, Idq Al 7 daa AR,
I J IAR, ToATh Y T gad | 3T AR GUVERT e |
UG doelld YeellG: AEHIGd:, G deall Aam |

IeATeel & faedn St ?
feTugeiag:

L 2

REICE



. J&749:
s

4.
Correct Answer :-

Yoliehl afScar IrafATESera eaed Ye#ccl A -

27)

Id: TGRS TAUdTarale |

PROT HholedEd & # favo]: gefied |
ATy AT Y Y TIEH |

dY dsaegdr sifdd: YA el @iy |

%o 376 gontA sfd sfeaefea 2



C
g :
1.
GESERE
2 e |

MK DI EICE
¢decd:

Correct Answer :-



U=de 9focar 92Ty ﬂﬁtl,rdi AT -

A Fogh-hBAEACUASHT  Hledlss  Fal  GASHsTAIHA ~ dal
TaTHRATes | faultly  emgergde wwolimERE  uredd, | aF
HITGERION, SERION, AGAGH 3, o Ao HgHRI
HeAhST T GETION Tdcitehetet IEATIH | FA faar Saamensfor glereds ax
IS | g¥UT OHE ARTRUSEsH, 8 gaery, e | @St
UTHUI, ‘3 Aegehled, Fall cadd hel: IA:? eodiad Bl
HETIooI A CTHANTTS |36 a8 HAIYH 3o | Aisgesd  fhafed
Hellfel T Seeifal’ a® sAl qaf8? HAd: GaIor Gellfd 3 JWGH |
T I JAIAIEAA FIFAT W T AU g |
CAffAedrcy  cadl: JENA!: AT qecHHUAH | 3 gaAd
CaTHUTH TR, T8I $eHedE adl AU | MelE oS T e |
ST favseaAarded ‘3 Ud o HAARA ? el $90, FareeAT AfASA
| &t eardd fhed dgd: | 3 TRl | U d IRICT A
e 37aEg | 3% T ¥ FEud: Rgdferaa |

' RIS 3TF & U ?
1Q =~
_ dead

391
3.
Iq
4,

Correct Answer :-



URTdE afScar 9oy AGHCR JIIA -

U Fegh-hSRAAIASHT  Hedlse  Jal  GASHsTAIH ~ dal
EITHRATLTH | faufory HIFTeolgHS THUNIARTA Ucdalsl | o
HITGERION, SERION, AR 3eiersr, fRoT Ao HghRI
IAGST T &N faclichalel IEATIH | #A A QTareisf demmader o=
IOTESd, | §YUT e ARTERUNSES C # Sdar, I |oarsi
YISO 3R degebled, Fall cdHA Pd: IAA:?" gediad Helllel
HETIoo1 & CAATANTTS 136 a8 HAIUH 379ad | Hisyesd feafed
ellfel T Sodifa’ a® 3l Ugf@? 3Adn: |aIfol wellfel &: 3WEH |
3ed T JANHEICHH  FIFAl F: T U Agd: |
CARHAeAray gl JINA:  HAGET  AsqHHUAH | e gadAd
CaATAHHUH A, T&Td: $eHedE gal Rl | e RS T IR |
Tl fasoraardcd 37 Td o HUId ? 3767 S0, FaTeaAT AASHIA
| o o g@dd fhed Sgd: | 3 AR | &TUlE O AT #A
fAFH AEa | 38 T - &ifegd: fHgaifcardan |

" AT T 3T dh: olhR: ?

el
L ~
oS
2- .
el
3. o~

Topic:- Social Science (SSC)

./ B w1 Qi =y H|

1. Fraud Enforcement and Regulation Act / ?h"@'[%l—sﬁ yaa 3R fafaee siftfaam

2. Food and Environment Research Administration / @] 3R GafaR0l STHYM UM
3. Federal Emergency Relief Agency / Thexd SEROT Rellth Toredt

4. Foreign Exchange Regulation Act / ﬁ%ﬁﬁ&m%ﬁw Sy

1) FERA stands for

Correct Answer :-

« Foreign Exchange Regulation Act / faa=f g1 fafom= sifdfem



“Teaching History, Geography, Civics and Economics, etc. as separate subjects - only imparts miscellaneous and unrelated information”, was said by:-
/ iR, i, AR I 3R i onfe Y ererT-3rer fawal & w9 # ygT baw Ay 3R el SeR) ueH $ear 8", g g1 %o T or: -

1. Secondary Education Commission / ATeATH fR1&f SamT

2. NCF 2005 / TTHITW 2005

3. NPE 1986/ TIUTS 1986

4. Kothari Commission / BISRY STaIT

Correct Answer :-
« Secondary Education Commission / TreAfiye e sman

3) A set of interrelated statements elaborating a learning material being taught is known as the skill of:
/ Tl S arelt Rigor Araft B favega % 81 WRAR Wi Y=l &1 Ue Ae i 31 SIvd Hean ¢:

1. Explaining / SfqUTE a1 SORSAT H=AT

2. Demonstrating / USRI B BT

3. Questioning / Y= $RA B

4. Lecturing / SORAT

Correct Answer :-

« Explaining / TiTe a1 RS HIAT

4) Which following is the correct statement? / FHfRiRad & & S A1 HY= TE &2

i. Akbar founded his own religion known as ‘Din-i-ilahi’. / 3/®eR 3 “§9-T-FaTEl” ¥ 17 | 3= o =1 fopami
ii. Akbar defeated Rana Pratap in the Battle of Haldighati in the year 1576. / 3[®dX Jaf 1576 ﬁgﬁﬁmﬂ & & ¥ 30T yaTg B Tl
iii. Tansen was the greatest musician of Akbar’s court. / AR PR & AR & g He ™ IFifider 31

1. ii only / %ad ii

2.ionly/%adi

3. All are correct. / G T& B

4. iii only / HaT iii

Correct Answer :-

« Al are correct. / Gt T §1

5) Which King was the author of Ratnawali, Nagananda, Priyadarsika?

/ B | o7 IATGR, AR, raelier ¥ dwe A2
1. Ashoka / 32

2. Chandragupta I1 / gt 11
3. Harsha / 89
4. Samudragupta / S

Correct Answer :-

« Harsha /g%

6) Which Article of the Constitution states that, "The state shall take steps to organize village panchayats and endow them with such powers and
authority as may be necessary to enable them to function as units of self-government”? /

U & 59 srg=de & w1 T4 € 1%, “Isg U Uugdl &) afRid #31 & [0 $oH IS SR 3= T fdrrar SR SRR wer S oY 3= W 3t
P54l $ U W H1f H1 A YW 91 F AT smazas g2

1.42
2.38
3.32
4.40

Correct Answer :-

- 40



7) Which one is the text not written by Abul Fazl? / 9§ P Iq1 Uy % Y g Bl ﬁTﬁﬁl@T %?
1. Akbar Nama / 3{haR ATHT

2. Ruqaat / ¥PTd

3. Tabaqat-i-Akbari / TEHTd-T-SHHERT

4, Tnsha-i-Abu’l Fazl / $1-T-3{§d Boiet

Correct Answer :-

« Tabaqat-i-Akbari / G&Td-T-3fHas]

8) Which among the following is the correct location of the Tropical Forest Research Institute (TFRI)? /
fFrafafea ¥ @ B9 a1 Swmfedthy a9 SHYUT™ WA (TFRI) BT 98 &I 82

1. Bhopal / Wore

2. Jodhpur / STYqR

3. Jabalpur / SISAQR

4. Dehradun / S8R1gA

Correct Answer :-

« Jabalpur / SEAgR

9) Match the following Neolithic site:

1. Daojali Hading | A. Baluchistan

2. Mundigak B. Bihar

3. Rana Ghundai | C. Northkachhar hills Assam
4. Chirand D. Afghanistan

| AT TEd FadmTeT T & FJa B

1. IS G | A aefaRede

2. HEETH B. fER

3. O 955 C. 3ccR FOR Telisal
I

4. Fig D. HBaN ==

1. 1-B,2-C,3-D4-A
2. 1-B,2-A,3-C,4-D
3. 1-A,2-D,3-C,4-B
4. 1-C,2-D,3-A4-B
Correct Answer :-
* 1-C,2-D,3-A4-B

10) Which of the following country is not considered a rigid constitution? /
Fafafed § & frw 39 ) v woR Sy =81 wrr s 82

1. Australia / 3fTferar

2. Britain / fseq

3. Switzerland / f&esRds

4. USA / 3mRet

Correct Answer :-

« Britain / fsea

11) The most staggering problem in our educational system on an all India basis is: /
Aol YRE P YR W gARY Rrarm gomedt & a2 aiftre et 7 arelt g @:

1. Lack of funds / &8 &1 &I

2. Lack of schools / &gl &1 &t



3. Drop outs / $17 3¢
4. Stagnation / 3/GHTTAT
Correct Answer :-

« Drop outs / $ 3¢

12) The study of the origin and development of human being and their culture is known as:

[ TSI ) IART AR R ok ST Sl b wma B wer e |
1. Archaeology / YRTdcd

2. Sociology / HHISIRIRA

3. Anthropology / TTTaRIR T Jf3T

4. History / Eﬁﬁm

Correct Answer :-

« Anthropology / ATFaRIR AT AT

13) The main purpose of criterion-reference evaluation is: / ATTGS-3igH TwITHT BT IS =T Bl
1. Determination of ranking of the student / B P HARSD BT YR

2. Assessment based on predetermined objectives / T:fﬁﬂfﬁ_d G‘E@}[ P 3MYR TR 3HTHT

3. Assessment of attainment of group performance / THg USRI B It BT 3T

4. Assessment of the skill performance of an individual / e F BN TR BT SATHTT

Correct Answer :-

« Assessment based on predetermined objectives / Eﬁfﬁﬂfﬁ’ﬂm P YR TR SATHT

14) Classical pattern of education is called ./ e s 3PpY e 3 el Sl %
1. Trivium / Sifqaq

2. Rhetoric /g e

3. Quadrivium / S c-IJeY

4. Dialetic / GETH® THUGT

Correct Answer :-

« Trivium / ¢ifqaq

15) Who among the following is the author of ‘Politics’? / FFrafefad & @ #19 “uifafee> & aT® §?
1. Rousseau / =4I

2. Plato / ®ie!

3. Aristotle / 3¥]

4. Socrates / gDHId

Correct Answer :-

« Aristotle / 3R¥

16) Who is known for initiating electoral reforms in India to ensure free and fair elections? /
Fae ofRR froaer gama GRfa $3 3 WG B g GUR I B9 & 1T i w1 S 37

1. N. Gopalaswami / T. oA

2. T. N. Seshan / . T. Qw4

3. S. Y. Quraishi / TH. 915, =it

4. M. S. Gill / T\. 9. fia

Correct Answer :-



« T.N. Seshan / . T. Qv

17) According to Seligman ‘Geography” is included in: / R & SR e o wnftre ?:
1. Semi social science / 378 AT fagm

2. Social studies / HTHTISTED SeHTT

3. Pure social science / & g fagme

4. Science with social implication / RIEISES m‘ﬂ?ﬂ ﬁ?ﬂ?

Correct Answer :-

« Science with social implication / | dIerd Yad EFiG]

18) The social and co-operative expression of thoughts and ideas in the class, which is concerned as a miniature society and shared environment,
this method is known as:

/ e & faRY 3R el &Y AT 3R Teert siftreaf, Sit ue oy wHTS 3R Argn yatavr & w4 # Wafia g, 8 faft seard @:
1. Problem solving method / o JATYTH fafdy

2. Project method / TR&SHT fafyy

3. Socialized recitation method / THTSIgHd A gf fafty Tgied urs fafy

4. Discussion method / TR fafdy

Correct Answer :-

« Socialized recitation method / Wﬁﬁﬁ e 3{@% fafey ﬂw T8 fafy

19) The concept of Public Interest Litigation (PIL) was introducedby ./
SR aiReT (Remsue) # s@uRuT_ gRIYE S TE A

1. Justice Sarv Mittra Sikri / =maafd wd oy fa

2. Justice PN. Bhagwati / <magfd . T, 4Tacdt

3. Justice H. J. Kania / magfd =, o, iar

4. Justice Sudhi Ranjan Das / =madfd geft To e

Correct Answer :-

« Justice P.N. Bhagwati / =amgfcf ot T, fracht

20) The technique which is often used by all teachers for transacting skills, ideas, attitude and processes among students is called as .
B A e, [, @i ik uftransil o1 49-37 TR & R s w it gt gRT ST 351 S arelt de e ot FET T 81

1. Activity-based teaching / Tifafafd smemfa Rreror

2. Projective technique / 98} e

3. Lecturing / R

4. Demonstration / &

Correct Answer :-

« Demonstration / UGR[

21) Which of the following is the technique of collecting all the necessary information about a child with a view to studying and solving his deep-

rooted problem? / FIARITET A A B ve 7= Y e T &7 318097 37 9 I g0 S B 2D A IS I § G} 3raxgs FHHR) THA
P B IPHID 82

1. Experimental study / TR Seag
2. Case study/WE\ff
3. Qualitative study / UMD &I

4. Quasi experimental study / 31 TRINTIG ez

Correct Answer :-



e Case smdy/ﬁﬁ?ﬁ

22) Which among the following is not a function of evaluation? / IEINIEECR R ARkl b BT TH P g 82

1. It helps to study the entry behaviour of the children in all aspects. / I8 it q—siﬂxﬁf T = B YA TAGR BT ST B | Hee a3 |
2. It helps to undertake special instructional programs. / dg &a%sm Eaptae W= P T g el g

3. It helps to assess different educational practices. / g faftw Qferep 31T} BT 3T B H Hee W%I

4. It does not provide for individualization of instruction. / g e & Jufdeu s IR HEER RG] % |

Correct Answer :-

« It does not provide for individualization of instruction. / I8 e & JufaIeRuT & T UeH T8l BT 3|

23) Which among the following models of teaching belongs to Social Interaction Family?
/ Rrgror & Frafafea ufamml & & w19 amfe aewiiar aRar & gl g2

1. Concept attainment model / FeheUT TG Ui

2. Jurisprudential model / =719 XM ufaa=

3. Non-directive teaching model / IR Rigror ufaa=

4. Advanced organizer model / 3¥d TSI Hfaa

Correct Answer :-

« Jurisprudential model / =TT R ufaa=

24) What is the full form of SEZ? / 9% (SEZ) W‘IU{'WW%?
1. Special Education Zone / =R fi& & (W=Tet TR wiH)

2. Special Economic Zone / o anfdfe &= (@Wiihﬁ:ﬁm T"ﬁ:f)
3. Special Equity Zone / fa= Sfehet &7 (Wl sfdet o)

4. Special Equal Zone / o=y T & (WU=TA 36 )

Correct Answer :-

« Special Economic Zone / faRi 3fife & (X Sh1-ITH o)

25) Under whose rule Turkan-i-Chihalgani was introduced?
| gPI-T-IgenT e R & d8d = $1 1S A2

1. Titutmish / Segafa=r
2. Razia Sultan / IS gedlq

3. Balban / &dldd

4. Qutub ud din / $I I&

Correct Answer :-

o Iltutmish / SegaieRT

26) Which Vijayanagar ruler adopted the title of 'Gajabetekara (the elephant hunter)'?
| {5 fasaTR T A TedeHR (@11al BT RIGRY) @) Uity aru #1?

1. Bukka / gdT

2. Deva Raya 1/ 3d 1

3. Deva Raya 11/ 3@ I 11

4. Krishna Dev Raya / $1 &9 4

Correct Answer :-

« Deva Raya Il/ @I II

27) Which of the following is found in the earth’s core? / 18 & & g2t & FHR (@l yrm) ¥ 71 AT 1€ 32



1. Magnesium / iRy
2. Ferrous / By
3. Silica / Riferep1
4. Aluminum / T@HIFRE

Correct Answer :-

« Ferrous / B9

28) Which of the following paradigm followed the Quantitative revolution in the evolution of geographical though? /
ot & @ i ufomm  Jiiiie e & aeras wifa o1 srwR fear?

1. Regional Analysis / it faserwor

2. Areal differentiation / &1 faNdiem=uor

3. Post Modernism / IR SMYfAwdraTG

4. Exploration and description / 3{<Jt07 3R Rz

Correct Answer :-

« Post Modernism / STR SfFHdmarg

29) Which ruler introduced the price reforms in the market? / f5¥ @ 3 IR # T GURT BT AT 1?2
1. Allauddin Khilji / 3{@T3g - Raasit

2. Firoz Shah Tughlaq / fﬁb—ﬁﬁrmw

3. Mohammad Bin Tughlaq / WWW

4. Balban / g

Correct Answer :-

« Allauddin Khilji / 3fATSEH faareit

30) Which animal is engraved on Harappan seals? / SSWI ®1 Hg3I W fh SR &1 Icpivi fobar 107 82
1. Goat / F&1
2. Horse / ‘EﬁET

3. Unicorn/ SH R (?Iﬁ'ch"ﬁ)

4. Cow /A

Correct Answer :-

« Unicorn/ SHRIT (FAH1)

31) Which Constitutional Amendment introduced Right to Education as a Fundamental Right? /

g wawnfore =i A Rien & fteR #) Aifte iR & o d tw frar
1. 88t

2. 84th

3. 86M

4. 81%

Correct Answer :-

. g6l

32) Which text is not written by Kalidasa? / BIeIgIT A &1 I1 3 81 fer@n 872
1. Meghadutam / Hagad

2. Malvikagnimitram / AT TIHTEH

3. Mrichchakatika / Ge8®hICHH

4. Shakuntalam / Qe



Correct Answer :-

« Mrichchakatika / Jed®{cHH

33) NABARD was introduced in WE I o wyrfre fomam mma am

1.1972
2. 1982
3. 1988

4. 1990

Correct Answer :-

34) _ Government has the power to legislate on ‘residuary’ subjects. /
WHR & IR ARy fivhl R SH a1 St afw 21

1. Local / R

2. Unitary / TH1T

3. Union / 9

4. State / 19

Correct Answer :-

o Union /99

35) _is an institutional mechanism to provide representation to the states of India. /
U URINM a9 € S YRd & sl B ufafAfica weH sar 2l

1. Rajya Sabha / JSGgHT

2. State Legislative Assembly / I0 faym=gur

3. State Legislative Council / X9 {3y uftg

4. Vidhan Sabha / fasm=gaT

Correct Answer :-

« Rajya Sabha / IsgqHT

36) is a process by which the government sells their assets and hand over the management to the private sector. /
T i s R SRR o Suli S @ ok v @ el e i i d

1. Privatisation / fofiaRur

2. Liberalisation / 3GRI&GRUI

3. Public-private partnership / et el urierRt

4. Disinvestment / IGIRCE

Correct Answer :-

« Disinvestment / IGIREE

37) means the price of product increases but the value of the product decreases. /_
P AT § fb e B PHAd ¢ Wl & AP IeTe T Yoy ¥e Jar g

1. Corruption / Y¥TAR

2. Inflation / &I

3. Hoarding / STHRART

4. Minimum Support Price / dH 99 g1

Correct Answer :-

« Inflation / SRR



38) Vedas are also known as : / 931 @1 Tg ¥t HeTET &:
1. Smriti / ¥fcT

2. Nirukta / Foad

3. Shruti / gfd

4. Kalpa /&

Correct Answer :-
« Shruti / gfd

39) Who among the following is known as “the Architect of Indian Planning”? /
Frafafe & 3 @A “uRdtT 9o & aRgeR” & U A SH1 16T 82

1. Prasanta Chandra Mahalanobis / URIT~d T L EERICE

2.V V Giri / @ G i’

3. VKRV Rao /&l & 3R dI @

4. R C Desai / 3R ¥t 3018

Correct Answer :-
o Prasanta Chandra Mahalanobis / URIT= T R RERICE

40) Who delivered the famous speech "Tryst with Destiny" to the Indian Constituent Assembly? /
YT wfaem g § uiieg v e fag 3fe it fram faam

1. K. M. Munshi / %08, G=it

2. Somnath Lahiri / @qu

3. Jawaharlal Nehru / STdTgR aTdf g%

4. Sarojini Naidu / SRISH A1Ig

Correct Answer :-

« Jawaharlal Nehru / SIdTgR dlcl ﬁBF

41) Who was the first Governor General of India? / HRd & Ugel Ta=R SI-¥d B 4?2
1. Warren Hastings /IR BT

2. William Bentinck / faferaw sfeew

3. Robert Clive /J/a¢ FIgd

4. Lord Cornwallis / @S Pr-arerd

Correct Answer :-

« William Bentinck / faferam sfew

42) Who had started the magazine Jugantar? / =R (STaR) THABT Bt RS e @t fi?
1. Veer Sarvarkar / 3R JIaR®HR

2. Bhagat Singh / T Rig

3. B G Tilak /o Sff foee

4. Aurobindo Ghosh / 3Rfdg &Y

Correct Answer :-

« Aurobindo Ghosh / 3Rfdg €Iy

43) Who supplies coins in India? / YRd & Raw! &t 3Myfd 19 Ha1 82
1. Security Exchange Board of India / Hﬂ?ﬁqmﬁﬁmiﬁé

2. Commerce and Industry Ministry / aTfOrd 3R FENT T

3. Ministry of Finance /ﬁ?fﬂ'?ﬂﬁq



4. Reserve Bank of India / R YoTd S

Correct Answer :-
¢ Ministry of Finance / foa e

44) The transfer of ownership, property or business from the government to the private sector is termed as .
WoR A ot & A v, Gufy a1 sraamrg & gwiaeo &) PETSTRI

1. Nationalization / JTTIR0T

2. Globalization / 301

3. Privatisation / fFSfieRor

4, Liberalization / IERIGR0T

Correct Answer :-

« Privatisation / FSiaRUT

45) The correct concept of evaluation reflects in: /H\?Ti@_"l Eal ﬂ?’f SAYRUIT ﬁ"! ] tlﬁ?l'f&iﬁ ﬁ?ﬁ %: -
1. Diagnostic Evaluation + Formative Evaluation / aT-d Jedic + Ya1eTdh Hedid

2. Summation Evaluation + Measurement / GRTT&Td Hedieh + HIY

3. Measurement + Judgement / {IJ + ot

4. Tests + Examinations / ﬁ&fﬂ +gYer

Correct Answer :-
e Measurement + Judgement / {19 + Aot

46) The Social Science which draws its information from both natural sciences and social sciences is:
| AT frT it wrepfores fagmT 3k AT fagme St & 3o SMe R Wit e 2
1. Geography / H’ﬂﬂ

2. Civics / VRS

3. History / SfagTd

4. Political Science / EEIIRACEIE]

Correct Answer :-

« Geography / fd

47) The term “laissez-faire” means_____ ./ Xeg AN B (3ree =ﬂﬁf) Eal Gi?f% |
1. Less government intervention / ®H WHRY Wa’q

2. Less market intervention / &H ISR gHay

3. More market intervention / 3P TR gAY

4. More government intervention / 3feF W@B’R‘Rﬂt{

Correct Answer :-

o Less government intervention / ®H WBRY BW&%‘C[

48) The Great Bath structure was discovered in which city of Indus Valley Civilization? / GATRIR (fo=mer AR &5t @it ﬁrg{ Tt Wt & fora R | §'§
d@

1. Mohenjodaro / FgoIGS
2. Lothal / e
3. Harappa / 8T

4, Dholavira / 1@TdR

Correct Answer :-

¢ Mohenjodaro / HigTSl 33



49) Seasonal unemployment is a characteristic feature of ./ et SRISRY i Th faryar %I
1. Agriculture / Y

2. Service / qaT

3. Manufacturing / fafmor

4. Industry / I

Correct Answer :-

« Agriculture / $fY

50) When was the Constitution of India adopted? / YRA & HAUTH B HF ST 4T 412
1. 26™ January, 1951 / 26 TG, 1951

2. 26 January, 1950 / 26 SFEY, 1950

3. 26" November, 1949 / 26 7R, 1949

4. 26" November, 1948 / 26 TdaR, 1948

Correct Answer :-

« 26" November, 1949 / 26 FaR,1949

51) Green Belt Movement is an environmental non-governmental organization. Focused on afforestation. Who initiated this movement? /
W Aee it TP Taiaeuig IR-TReR W16 ¢ 1 it b a-fiepeor v Hisd 81 39 Sricier Bt oaird fha 312

1. Shirin Ebadi / R warc

2. Wangari Mathai / Y Hﬂﬁ

3. Helena Norberg / 81 TR

4. Winona La Duke / {351 o €&

Correct Answer :-

« Wangari Mathai / T} 7i1$

52) CANCELLED

Which ruler was the first to defeat Muhammad Ghori?
/ ETHE MR B IRIRT HI aTdl gl AMHD Bi- AT?
1. Prithviraj Chauhan 111 / Q@RI 9eH i

2. Prithviraj Chauhan II / G2dIRTe! e fgdia

3. Prithviraj Chauhan T/ Gl Fie I

4. Jaichand / SIOT<

Correct Answer :-

 Jaichand / STO<<

53) CANCELLED

How long did the Challenger Expedition last? / SeieR 3R faa wwg a& Jar?
1. Four years / R a9

2. Five years / uig a9

3. 18 months / 18 AN

4. two years / & 9§

Correct Answer :-

« Four years / IR a9

54) CANCELLED



Which among the following country is also known as the last remnant of the former Papal States? /
FraffeT & & e 3 @ d Tua W od & 3w oradw & w0 § oft e s 82

1. San Marino / 39 8841

2. Vatican City / Ifes Rt

3. Monaco / HHT®!

4. Malta / HTeel

Correct Answer :-

« Vatican City / 3fee Rt

55) Which ruler was described by Sir Huge Rose as ‘the best and bravest military leader of the rebel’?
| IR g R fra 2meres &1 ' asiEt &1 9d 9y ok wad gg1gR 9= Aar & wu & afvfa far ur?

1. Begum Hazrat Mahal / 79 goRd Hgd

2. Rani Laxmi Bai / ) derf} a1$

3. Bahadur Shah Zafar/ §gIgR RTg St

4. Kunwar Singh/ $aR Rig

Correct Answer :-

« Rani Laxmi Bai /3t 9i&Ht 918

56) Cape Agulhas makes the dividing point between which of the two oceans? /
FU e 5 3 HeRrRY & g fyurer fig swmar 82

1. The Arctic Ocean and the Atlantic Ocean / 3T HEIFR 3R 3fedifcd HERINR

2. The Atlantic Ocean and the Indian Ocean / 3fcdifed HERIFR 3R f§E TEMIR
3. The Pacific Ocean and the Atlantic Ocean / URITd HENITR 3R 3redifesd HeNHTR
4. The Indian Ocean and the Pacific Ocean / g TR 3R g HTR
Correct Answer :-

« The Atlantic Ocean and the Indian Ocean / 3fedifed AENNRR 3R IR RIRIEY

57) Which is the largest fresh water lake in the world by volume of water?/
S @t A F e @ g 9 ged ot e o S sha s R

1. Lake Michigan / EEREEIN

2. Lake Malawi / ATcTdt gﬁa

3. Lake Baikal / 3%7at gfit

4. Great Bear Lake / ¥ TR a

Correct Answer :-

« Lake Baikal / S1a 3t

58) In which of the following seasons, brief squalls and thunderstorms known as Kalbaisakhi, or Nor’westers, often occur? / Frafafaa & & few
Y ¥, FTAduRE a1 ARaed & FU § WM oM a1a B JuT R i, srRR ot Teedt 82

1. Early winter / &t aféai &
2. Early summer / o3t fefa &
3. Rainy Season / TR=1 & Ay &
4. Late winter / 9T& &1 9fal #

Correct Answer :-

« Early summer / 3Tt Tifdfar &

59) Which among the following country is considered to be the Origin of Coffee Plant? /
FraffEd & 9 few 3= &) 1w & 08 1 Tt 7T oI 82



1. Vietnam / faga=m
2. Peru / T

3. Ethiopia / Sfnfoar
4. Brazil / sTefiat

Correct Answer :-

« Ethiopia / 33t

60) Who helped in taking transformative steps in India’s foreign policy and persisted in making peace with Pakistan emphasizing that a state can
choose its friends but not its neighbors? /

fram uRa #1 fagwr Hifa & tRadTe Fan Io™ A Werar #t 3R UIfhar & A1y ifd 991E T W WK 39 U F81 3 U Iy U Sl &1 g7 AHhal g
AP A TSR B T

1. V.P. Singh / §t 9. g

2. LK. Gujral / 3$ & T[oRT@

3. L.K.Advani / Td. &. 3Taroit

4. Atal Bihari Vajpayee / 3icd fogR! areradt

Correct Answer :-

« Atal Bihari Vajpayee / 3cd fogRt arerodt



